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Fs w4 P51 BEFS BIEERAL SRS H2 |[BRER| £
1 PRI ES 001 I RA 76.37 1 ok | BEAEER
2 wANR ] 001 I RA 76.30 2 Gkt | AT
3 HEEHR 5 001 Il RA 75.69 3 ok | AL
4 J g 5 001 I RA 73.10 4 Gkt | AT
5 MRt ioe ES 001 I RA 71.57 5 ok | EAEE
6 T 0 001 I RA 71.16 6 Gkt | AT
7 = E'S 001 I R A 70.61 7 ok | BEAEER
8 TN 7 001 I RA 70.44 8 Gkt | AT
9 A FIEE 7 001 Il RA 70.36 9 T
10 REHEH 0 001 I RA 69.98 10 Gkt | AT
11 [ % 001 I RA 69.74 11 ok | EAEE
12 W) 1247 7 001 I RA 69.65 12 Gkt | AT
13 I 7K 5 001 I RA 68.81 13 okt | AL
14 BB} 7 001 I RA 68.81 14 Gkt | AT
15 FE ES 001 I RA 68.34 15 okt | BEAFEEE
16 KA R 5 001 I RA 67.94 16 Gkt | AT
17 € ES 001 I RA 66.56 17 okt | BEAFEEE
18 T % 001 I RA 66.37 18 Gkt | AT
19 L ES 001 I RA 65.73 19 okt | BEAFEEE
20 X1k 5% 001 I RA 65.27 20 Gkt | AT
21 RN 5 001 I RA 64.99 21 okt | BEAFEEE
22 i EN 5 001 I RA 64.74 22 Gkt | AT
23 Lipt] 5 001 I RA 63.03 23 okt | BEAFEEE
24 Gyl 5 002 JRR I 69.79 1 Gkt | AT
25 e 5 002 JRIE 66.95 2 okt | BEAFEEE
26 AR % 002 JFR 62.10 3 Gkt | AT
27 Gl 7 003 5512 W 79.73 1 ok | BEAFEEE
28 ERUE ES 003 =512 74.60 2 Gkt | AT
29 | REKRH ) 003 AR 2 W 74.41 3 ok | BEAEER
30 THE 5 003 =512 71.90 4 Gkt | AT
31 WRiE ES 003 S 2 71.24 5 okt | BEAELE
32 -5k % 003 3282 Lﬁ 71.03 6 Gkt | EAEE
33 TKHE ) 003 =328 70.44 7 ok | BEAELE
34 i 5 003 q—é%%ﬂﬁ 70.08 8 Gkt | AT
35 7 7 003 =328 69.04 9 okt | BEAFEEE
36 IR 7 003 %?/1%1’/‘% 65.31 10 Gkt | EANEE
37 KB 5 004 PR 80.06 1 okt | BEAFEEE
38 F KR 5 004 AR 68.51 2 Gkt | AT
39 A 5 005 B 2% PR A 77.06 1 okt | BEAFEEE
40 TH 5% 7 006 By 2 R A B 72.77 1 Gkt | AT
41 MR 5 008 HHEA 76.25 1 3T
42 jREE T % 011 B R 83.24 1 Gkt | AT
43 PETR S 7 012 mia{Es 77.78 1 okt | BEAFEEE
44 [LINE % 013 REIGIT 72.82 1 Gkt | AT
45 R 7 013 REIGIT 72.70 2 okt | BEAFEEE




Fs w4 P51 BEFS BIEERAL SRS H2 |[BRER| £

46 (TN 7 013 REIGIT 70.44 3 &

47 HIER S 016 2 #A 77.55 1 Gkt | AT
48 B 5 017 2578 76.66 1 & NG
49 B o g S 018 Hh 2 74.26 1 1= HENFEL
50 AB MG 5 019 = 2E A I A 81.58 1 okt | BEAFEEE
51 T % 019 & R AR A 76.60 2 Gkt | AT
52 5 7 019 &SR IR A 75.88 3 =) N2
53 EF % 019 & R AR A 73.94 4 1= HENFEL
54 BN JE 5 019 SR I A 72.29 5 = N5
55 NER % 020 & R 46 B 77.35 1 1= HENFEL
56 AR 5 020 =22 A 0B 74.60 2 okt | BEAFEEE
57 HIEE 7 020 & Ry 46 B 73.26 3 Gkt | AT
58 LUK E 7 020 [ ol 71.99 4 = NG
59 ) 7 021 A 79.63 1 1= HENFEL
60 uSIER! 7 021 PHEA 75.32 3 =) NG
61 HfEsE 7 021 FREA 75.19 4 1= HENFEL
62 AR 7 021 FEEA 74.81 5 okt | BEAFEEE
63 EIREEE % 021 FREA 74.67 6 Gkt | AT
64 R 7 021 FEEA 74.45 7 = NG
65 JCF ] 7 021 FREA 74.11 8 1= HENFEL
66 DA ke 7 021 FEEA 73.69 9 =) NG
67 IMEGE 7 021 FREA 73.53 10 & HENFEL
68 il 7 021 FEEA 73.50 11 ot | BEAFEEE
69 7K 7 021 FREA 73.44 12 Gkt | AT
70 MR 7 021 FHEA 73.14 14 & N5
71 YT 5 021 FREA 72.89 15 & HENF L
72 W Y % 7 021 FHEA 72.28 16 =) N g2
73 H %A 0 021 FREA 71.75 17 & HENFEL
74 VLHE 7 021 FHEA 71.48 18 ok | BEAFEEE
75 MRk} % 022 Il RB 68.19 1 G | IEANELE
76 T#Eh 7 022 1% KB 64.46 2 =) N5
77 JE 2= 5’s 023 PPEB 76.19 1 & HENFEL
78 R 7 023 $HFEB 74.48 2 = NG
79 a5 T 7 023 B 72.87 4 1= HENFEL
80 RN #% 7 023 Cabiil:] 72.58 5 =) NG
81 BTV % 023 B 72.18 7 = HENF L
82 TIEE 5 024 PR EORA | 79.67 1 & NG
83 AIEFR 5 025 REBEARB | 79.74 1 = HENF L
84 I 5 it 7 025 PR 8RB | 76.51 2 & NG
85 -3 B 5’s 026 IR HRC 78.16 1 1= HENFEL




